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  Guess Paper – 2011
Class – X
 Subject –Science
Q.1. How many frames are projected per second in motion picture ? 1

Ans. 24 frames per second.

Q.2. Draw the electron dot structure of ethene molecule (C2H4). 1

Q.3. Why is ozone layer getting depleted at higher levels of the atmosphere ? 1

.

Q.4. How would you dispose off the following wastes ? 1

(i) Industrial wastes form metallic cans.

(ii) Domestic wastes from vegetable peels.

Q.5. Is the magnification for a convex mirror taken as positive always ? Give reason. 2

Q.6. Why do planets not twinkle ? 2

Q.7. How does the colour of the scattered light vary with the size of the particle ? 2

.

Q.8. Give reasons why

(i) fossils furnish the direct and most reliable evidence of evolution ?

(ii) all organisms have many common features ? 2

Q.9. Atomic numbers of six elements A, B, C, D, E and F are 4, 8, 10, 11, 15 and 17 respectively.

(i) Which of these element belong to the 1st group of the Modern Periodic Table and why ?

(ii) Which of these element is a noble gas ?

 (iii) Which of these element has two valence electrons ? 2

Q.10. How many groups and periods are there in Modern Periodic Table ? Justify the placement of

N(Atomic number 7) and P(Atomic number 15) and As (Atomic number 33) in the same group.

Q.11. Give two advantages of rain-water harvesting. 2

 (i) In rural areas it increases agricultural production and hence the income of farmers.

(ii) It reduces the effect of floods in the downstream area.

Q.12. (i) What is the scientific name of common bread mould ?

(ii) What are the fine, thread-like structures of bread mould known as ? 2

13. Name one sexually transmitted disease each caused due to bacterial infection and viral

infection. How can these be prevented ? 2

Q.14. Two lenses of power 12.5 D and – 2.5 D are placed in contact. If an object is placed 15 cm in

front of this lens, what will be the magnification produced ? 3

Q.15. Light of wavelength 5000 Å from free space, enters a glass slab of refractive index n = 1.5.

Find the (i) speed, (ii) frequency and (iii) wavelength in glass. 3

Q.16. What is short-sightedness ? Why is it caused ? Show with a ray diagram the corrected image

formation. 3

Q.17. (a) What are substitution reactions ? Explain with the help of example.

(b) Why are detergents better cleaning agents than soap ? Explain. 3

Q.18. How would the following properties of the elements vary down the group from top to bottom

in the Modern Periodic Table. Give reason.

(a) Tendency to gain electrons

(b) Atomic size

(c) Metallic character. 3

Q.19. What are the similarities between mode of transmission of ‘factor’, from parents to offspring

as conceived by Mendel and chromosomes through gametes ? 3

Q.20. Distinguish between acquired and inherited traits by giving one example of each. Why are

traits acquired during the lifetime of an individual not inherited ? 3

Q.21. Define fossils. Explain briefly any two ways in which the study of fossils helps in understanding

about the past life. 3

Q.22. The given diagram represents the Fertilisation in a flowering plant :

(i) Label the parts 1 to 5.

(ii) What is the function of the pollen tube ?

(iii) What happens to the ovule after fertilisation ?

(iv) What is the function of stigma ? 3

Q.23. (i) State the laws of reflection.

(ii) A convex mirror of focal length 20 cm forms an image of magnification 0.5. Whereis the

object placed ? Write the nature of image. 5

                                                      OR

(i) Using a set of three ray diagrams, establish that concave mirror forms image based

on the position of the object.

(ii) If the object is moved from F to 2F in a convex lens, how much distance does the image

shift ? Give reason. 5

Q.24. (a) Write the name and structure of parent alkane of ethanol. What happens when ethanol

is heated with alkaline KMnO4 solution ? Name the main product by the reaction of

ethanol with ethanoic acid in presence of conc. H2SO4 and write chemical reaction involved.

(b) State two characterestic features of carbon which when put together give rise to a large

number of carbon compounds.

(c) What is difference in the molecular formula of any two consecutive members of a

homologous series of organic compound ? 5

                                OR

(a) Why does carbon form compounds

(i) mainly by covalent bonding ?

(ii) having low melting and boiling point ?

(b) What happens when (write chemical equation of the reactions) :

(i) A piece of sodium is added to ethanol ?

(ii) Ethanoic acid reacts with sodium hydroxide ?

(iii) Ethyl ethanoate reacts with sodium hydroxide ? 5

Q.25. Describe the anatomy of human male reproductive system. 5

                                                      SECTION–B

Q.27. If one half of a convex lens is covered with black-paper, the image of the distance tree is 1

(a) half the tree (b)3/4thof the tree

(c) complete tree with half brightness (d) complete tree with reduced brightness

Q.28.As the object choosen to find the focal length of a concave mirror goes far from the mirror, the

image will be 1

(a) closer to F (b) at F (c) far from F (d) at 2F
Q.29. A student traces the path of a ray of light passing through a rectangular glass slab. The angle

of incidence is
[image: image1.emf]
Q.30. A student uses a distant object to find the focal length of a broken mirror. He will find the

separation between the image formed and the mirror 1

   a)f/2                         b)f                                 (c) 2 f                        (d) 4 f

Q.31. Four students added a small amount of ethanoic acid to sodium carbonate. The gas evolved

was tested for its behaviour with burning candle and lime water.

They show their observations as given below :

	Students
	Gas evolved
	Action of burning splinter 
	Action on lime water

	A
	CO2
	The flame of splinter Turned milky

extinguishes and gas does not burn
	Turned milky

	B
	SO2
	The splinter burns brightly and the Turned green

gas burns with a pop sound
	Turned green

	C
	NO2
	The gas does not burn but the Turned black

splinter burns with hissing sound
	Turned black

	D
	O2
	The gas burns with a yellow flame and the splinter extinguishes
	Turned pale


The correct observations have been given by student, is 1

(a) A                  (b) B                             (c) C                                   (d) D

Q.32. If we put pH paper or universal indicator in acetic acid solution, we observe that 1

(a) the colour changes to blue.

(b) the colour changes to green.

(c) the colour changes to red.

(d) the colour changes to yellow.

Q.35. Which of the following is/are correct about acetic acid ? 1

I. Corrosive and inflammable

II. Vinegar like smell

III. Soluble in water

IV. Turn red litmus blue

(a) I, II                          b) II, III, IV                         (c) II, IV                         (d) I, II, III

Q.36. The following are the sketches made by some students

[image: image2.emf] [image: image3.emf]
The sketch not illustrative of budding in Yeast is : 1

(a) A                            (b) B                                            (c) C                  (d) D

Q.37. The given slides A and B were identified by four students I, II, III and IV as stated below :

[image: image4.emf]
	Slide A
	Slide B

	I. Binary fission in Amoeba 

II. Budding in Yeast Buds of Yeast

       III. Binary fission in Amoeba 
       IV. Budding in Yeast
	Daughter cells of Amoeba

Buds of Yeast

Buds of Yeast

Daughter cells in Amoeba




Of the above mentioned identifications of slides A and B, which one is correct ? 1

(a) I (b) II (c) III (d) IV
Q.38. Raisins swell up after being placed them in a beaker containing water for sometime becaus :1

  (a) the concentration of water in the cell sap is higher than the water in the beaker.

(b) (b) the concentration of water in the cell sap is lower than the water in the beaker.

(c) (c) the concentration of water in the cell sap is the same as that of water in the beaker.

(d) water inside the raisins passes out of them when placed in a beaker of water.

Q.39. If the water absorbed by soaked raisins is 50% then the weight of raisins before soaking in

water (W1) and the weight of raisins after soaking in water (W2) might have been 1

a) W1 = 20 g and W2 = 30 g

(b) W1 = 30 g and W2 = 50 g

(c) W1 = 50 g and W2 = 100 g

(d) W1 = 05 g and W2 = 25 g
Q.40. The following figures illustrate binary fission in Amoeba in an incorrect sequence.

[image: image5.emf]
The correct sequence is 1

(a) (i), (iii), (iv), (ii) (b) (ii), (iii), (iv), (i)

(c) (iv), (iii), (ii), (i) (d) (iii), (iv), (ii), (i)

Q.41. While performing an experiment to determine the percentage of water absorbed by raisins,

the following data was obtained :

Mass of water taken in the beaker = 50 g.

Mass of raisins before soaking them in water = 5 g.

Mass of raisins after soaking in water for 2 hours = 8 g.

The percentage of water absorbed by raisins would be:-
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